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INSTRUCTIONS TO CANDIDATES 

 
General Instructions 
 
1.  This examination has 6 questions numbered 1 

through 6 with a total of 40 points. 
 
  The points for each question are indicated at the 

beginning of the question.   
 
2.  While every attempt is made to avoid defective 

questions, sometimes they do occur.  If you believe 
a question is defective, the supervisor or proctor 
cannot give you any guidance beyond the 
instructions provided in this document. 

Written-Answer Instructions 
 
1.  Each question part or subpart should be answered 

either in the Word document or the Excel file as 
directed.  Graders will only look at work in the 
indicated file. 

 
 a) In the Word document, answers should be 

entered in the box marked ANSWER.  The box 
will expand as lines of text are added.  There is 
no need to use special characters or subscripts 
(though they may be used).  For example, β1 can 
be typed as beta_1 (and ^ used to indicate a 
superscript). 

 
 b) In the Excel document formulas should be 

entered.  Performing calculations on scratch 
paper or with a calculator and then entering the 
answer in the cell will not earn full credit.  
Formatting of cells or rounding is not required 
for credit. 

 
 c) Individual exams may provide additional 

directions that apply throughout the exam or to 
individual items. 

 
2.  The answer should be confined to the question as 

set. 
 
3.  The Word and Excel files that contain your answers 

must be uploaded before time expires. 
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1. (7 points)  You are a consultant for small insurance company, SLC, in the United States.  
To align with industry best practices, the Board has decided to form a risk management 
committee at SLC. 
 
 
(a) (1 point)  List four responsibilities for the new risk committee. 

 
ANSWER: 
 

 
The Board asks you to review candidates for the new risk committee. 
 

• John is a seasoned director at SLC, and has helped the company establish a 
variety of longstanding processes.  

• Jane has been at SLC for one year.  She has served on risk committees of a 
number of consulting firms, for a total of 10 years. 

• Al has been at SLC for over 15 years, has worked for John, and is responsible 
for maintaining the underwriting processes.  

• Beth has been at SLC for 5 years, working in different departments.  She has 
just passed her final actuarial exam.  

 
(b) (2.5 points)  

 
(i) List four qualifications for members of an effective risk committee. 

 
ANSWER: 
 

 
(ii) Assess each candidate’s qualifications.  

 
ANSWER: 
 

 
(iii) Recommend the two most qualified individuals.   

 
ANSWER: 
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1. Continued 
 

After SLC has formed its risk management committee, you are asked to assist the 
company in developing its risk management framework.  The committee has identified 
the following risk categories and risk reports: 
 

Risk Categories 
• Market Risk 
• Underwriting Risk 
• Credit Risk 
• Operational Risk 

 
Risk Reports 
1. Internal audit results 
2. Value at risk  
3. Sales of new life insurance products 
4. Enterprise-wide risk report 

 
(c) (1 point)  Identify the most appropriate risk category for each risk report. 

 
ANSWER: 
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1. Continued 
 

You are asked to review the risk management framework, which has the following 
components: 
 

• The company favors regulatory prescription in setting risk tolerances and 
limits, as this will promote transparency and consistency. 

• Major lines of business within the company should meet monthly to discuss 
issues and developments related to the risk appetite metrics. 

• The process of assessing risk on a qualitative basis should be independent of 
the process of assessing risk on a quantitative basis. 

• Experience studies are updated annually with additional resources that can 
provide updates as needed, to manage the pricing risk. 
 

(d) (2.5 points)  
 

(i) Critique each component.  
 

ANSWER: 
 

 
(ii) Recommend any changes to the components above.  

 
ANSWER: 
 

 
  



Exam QFIIRM – Fall 2020 - 
QFI Investment Risk Management Exam 

2. (8 points)  Bob is an individual investor who has recently acquired an inheritance of USD 
2,500,000.  Bob identifies two attractive equity indices, Index Y and Index Z.  The 
performance of the indices can be approximated by normal distributions.  Bob is actively 
employed and focused on maximizing his investment return relative to risk taken.  
 
 
(a) (0.5 points)  Describe an efficient frontier in the context of portfolio management. 

 
ANSWER: 
 

 
Bob’s initial investment is outlined in the table below:  
 
Table 1:  Initial Investment: 
 

 Index Y Index Z 
Return 10% 7% 
Volatility 15% 12% 
Investment (USD) 1,250,000 1,250,000 
Correlation (Index Y, Index Z) 0.3 
Time Horizon 1 year 

 
(b) (3 points)  

 
(i) Calculate the marginal VaR for each index at a 95% confidence level. 

 
The response for this part is to be provided in the Excel spreadsheet. 

 
(ii) Explain which index carries more marginal risk. 

 
The response for this part is to be provided in the Excel spreadsheet. 

 
(iii) Recommend directionally how to reach the optimal portfolio.  

 
The response for this part is to be provided in the Excel spreadsheet. 
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2. Continued 
 
After three years, Bob has decided to retire.  He is now concerned with minimizing risk 
and meeting income needs.  His investment after the three years is illustrated below:  
 
Table 2:  Investment after Year 3: 
 

 Index Y Index Z 
Return 10% 7% 
Volatility 20% 15% 
Investment (USD) 1,500,000 1,300,000 
Correlation (Index Y, Index Z) 0.3 

 
(c) (1 point)  Calculate the probability that Bob’s portfolio declines in value over the 

next year. 
 

The response for this part is to be provided in the Excel spreadsheet. 
 
Bob would like to minimize the risk of his portfolio by selling his position from either 
Index Y or Index Z for cash.  He is considering the following measures to determine from 
which index he should withdraw funds: 
 

• Incremental VaR (1 year, 95%) 
• Component VaR (1 year, 95%) 
• Expected return 
 

(d) (3.5 points) 
 

(i) Identify the measure most suitable for Bob’s situation.   
 

The response for this part is to be provided in the Excel spreadsheet. 
 

(ii) Calculate the measure chosen in i) for both positions in the portfolio based 
on Table 2. 
 

The response for this part is to be provided in the Excel spreadsheet. 
 

(iii) Recommend which index to reduce his position from based on your 
results.  
 

The response for this part is to be provided in the Excel spreadsheet. 
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3. (6 points)  You are an actuarial student studying the following three case studies. 
 

• Korean Air Flight 801 
• Equitable Life Insurance 
• Bernard Madoff 

 
You are considering the following five of the “Top Ten” operational risks: 
 

• Amalgamated Assignments 
• Complacency 
• Handoffs 
• Reading the Fine Print 
• Reconciliation Gaps 

 
 
(a) (1 point)  Describe each of the above operational risks. 

 
ANSWER: 
 

 
(b) (2 points) 

 
(i) Identify the one operational risk most relevant to all three case studies. 

 
ANSWER: 
 

 
(ii) Explain how this particular risk was present in each of the three case 

studies. 
 

ANSWER: 
 

 
(iii) Describe how a best practices enterprise risk management system would 

have addressed this risk for each case study. 
 

ANSWER: 
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3. Continued 
 
(c) (2 points) 

 
(i) Identify one “Top Ten” operational risk that is most relevant to the Korean 

Air Flight 801 case study but not the other two case studies.   
 

ANSWER: 
 

 
(ii) Identify one “Top Ten” operational risk that is most relevant to the 

Bernard Madoff case study but not the other two case studies.   
 

ANSWER: 
 

 
The risks identified in parts (b) and (c) are inserted into the table below as [Operational 
Risk 1], [Operational Risk 2], and [Operational Risk 3] in some order.  Each case study is 
represented by a column in the table with -marks indicating the most relevant “Top 
Ten” operational risks present in the case study. 
 

 [Case Study A] [Case Study B] [Case Study C] 
[Operational Risk 1]    
[Operational Risk 2]    
[Operational Risk 3]    

Amalgamated Assignments    
 
(d) (1 point)  Identify which of the three case studies best corresponds to each of Case 

Study A, Case Study B, and Case Study C in the table.   
 
It is not necessary to create a table; a list identifying the case study belonging to 
each of A, B, and C is sufficient. 
 
ANSWER: 
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Please note that for the purposes of this question, exact notation is not required.  For 
example, F1 will be considered the same as 1F  and F^1 will be considered the same as F1. 

 
4. (7 points)  You are an analyst in the investment department of a large insurance company.  

You wish to simulate a collateralized debt obligation (CDO) after calibrating your copula 
to fit market prices. 
 
 
(a) (2 points) 

 
(i) Describe the steps necessary to simulate a loss distribution given random 

variables 1X , 2X , …, nX  with distributions 1F , 2F , …, nF , and a  
copula C ( 1u , …, nu ).  
 

ANSWER: 
 

 
(ii) Compare and contrast the use of rank correlation and linear correlation for 

copula calibration. 
 

ANSWER: 
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4. Continued 
 
The company is considering purchasing two CDOs – CDO A and CDO B.  You have 
been asked to assess their risks.  
 
CDO A contains 100 equally-weighted, investment-grade issuers.  You are given the 
market prices for the three tranches.  Using the one-factor Gaussian copula model, you 
calculate the correlation needed to replicate the market prices for each tranche, as shown: 

 
Seniority Correlation 
Equity  20% 
Mezzanine  18% 
Senior  25% 

 
Your coworker reviews your results and states:  
 

1. The underlying default dependence structure is not a function of tranche 
seniority. 

2. The correlations should be identical for all tranches.  
 

(b) (1 point)  Critique your coworker’s statements. 
 
ANSWER: 
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4. Continued 
 
CDO B contains 20 equally-weighted issuers.  Historical data indicates that this CDO has 
the following properties:  
 

• Asymmetric default risk, as the issuers are clustered around certain 
locales/industries 

• High tail dependence between the bond issuers  
 
To model defaults on a tranche from this CDO, you are considering the following 
copulas: 
 

1. Gaussian Copula  
2. Student-t Copula 
3. Gumbel Copula 

 
(c) (1.5 points)  Assess the appropriateness of each copula to quantify the risks of this 

CDO.  
 
ANSWER: 
 

 
Your manager is concerned with risks similar to those faced by public firms in the 2008 
Financial Crisis and has asked you to perform a broader scenario-based risk analysis.  

 
(d) (0.5 points)  Describe one advantage and one disadvantage of evaluating risks 

using scenario-based aggregation. 
 
ANSWER: 
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4. Continued 
 
The company has set the following objectives should a similar financial crisis occur: 
 

• Limit the exposure to loss from credit defaults 
• Maintain sufficient liquidity to be able to act on potential acquisition 

opportunities during a crisis 
 
You are developing actions that can be taken to meet the above objectives.  In doing so, 
you take note that your firm has a substantial long position in mezzanine tranches. 
 
You are considering the following potential actions: 
 

1. Sell protection on super-senior tranches instead of mezzanine tranches 
2. Reduce the allocation in CDOs and purchase treasuries 
3. Purchase credit default swaps (CDS) for hedging 

 
(e) (1.5 points)  Assess the effectiveness of each action in meeting the company’s 

objectives. 
 
ANSWER: 
 

 
(f) (0.5 points)  Recommend the most appropriate action.  

 
ANSWER: 
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5. (6 points)  You have been hired by a group of shareholders of Flying High, which 
provides jets to airline companies.  Flying High, under the recommendation of the head 
engineer, is rushing to develop a new jetliner as it seeks an edge in the competitive jet 
production market. 
 
Flying High has one major competitor, Soaring Air, which recently launched an updated 
jetliner.  Flying High produces all of its jets in Country X but is headquartered in Country 
Y.  Country X features low labor and capital costs but has recently seen some political 
unrest.   
 
 
(a) (1 point)  Identify and describe four risks faced by Flying High. 
 

ANSWER: 
 

 
The team developing the jetliner consists of only engineers.  The head engineer receives a 
large bonus for each new product that is cleared for production.  He recently 
recommended bypassing the required internal safety review, which often takes a year to 
complete, because the jet is based on a current product.  Other engineers endorsed the 
decision because it was consistent with precedent set by the head engineer. 
 
(b) (1 point)  

 
(i) Identify and describe two sources of conduct risk. 
 
ANSWER: 
 

 
(ii) Recommend an approach to mitigating each conduct risk.  

 
ANSWER: 
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5. Continued 
 
The company’s current ERM process consists of the following practices: 
 

1. The ERM team consists of only the CEO and CFO and periodically issues 
reports to the board. 

2. Risk management is solely the responsibility of the ERM team. 
3. The company’s risk policy manual specifies bringing all concerns to the ERM 

team but does not specify philosophy or measurable outcomes. 
 
(c) (2 points) 

 
(i) Critique the ERM process of Flying High. 

 
ANSWER: 
 

 
(ii) Recommend five actions to enhance the ERM process of the firm.  

 
ANSWER: 
 

 
The most recent shareholder meeting led to the following observations: 
 

• The board consists of 10 current and former executives in the airline industry. 
• A majority of members of the board serve on several other boards, which 

include companies that do business with Flying High. 
• The board meets twice a year, and the CEO is generally present. 

 
(d) (1 point)  Recommend four improvements to the board structure. 
 

ANSWER: 
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5. Continued 
 
The board is considering an accounting-based bonus for the CEO, which will be based on 
how Flying High’s performance compares to one of the following benchmarks: 
 

1. Flying High’s prior year’s performance plus 5% 
2. Performance of the best performing competitor in the airline industry for the 

current year 
3. Average performance of competitors in the airline industry for the current 

year 
4. Flying High’s average performance over the last three years 

 
(e) (1 point)  Recommend the most appropriate benchmark.   

 
ANSWER: 
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6. (6 points)  You are a risk manager for a large insurer that specializes in products that 
guarantee a fixed interest rate.  Your organization wants to improve the risk identification 
process for market risks. 
 
 
(a) (1 point)  Describe four modes of viewing the environment that can be used to 

identify market risks.  
 
ANSWER: 
 

 
Historically, market risk management has been directly handled by the asset manager, 
who describes to you their risk management practices: 
 

1. The team uses a floating rate bond index as a benchmark for portfolios 
backing the firm’s liabilities.  
 

2. Risk limits are set based on the standard deviation of returns relative to the 
benchmark. 
 

3. The manager invests in illiquid assets that have no observable market prices, 
so the team values these assets using a model that was developed internally. 
 

4. A new employee, who recently graduated from a top university, develops the 
model and approves the valuations. 
 

5. The team ensures that the regulatory capital required on their investments 
does not exceed a certain percentage of the company’s total available capital.  

 
(b) (2.5 points)   
 

(i) Critique each practice. 
 

ANSWER: 
 

 
(ii) Recommend one improvement for each flawed practice.  

 
ANSWER: 
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6. Continued 
 
Your risk management team plays a key role in the company’s asset allocation process. 
To evaluate two proposed asset allocation strategies, your market risk analyst puts 
together the following return scenarios.  The risk-free rate is 0%. 

 
 Expected Returns 

  Economic Scenario  
Investment Strategy Strong Economy Weak Economy 

Overweight Credit Risk 10% 2% 
Underweight Credit Risk 5% 4% 

      
Scenario Likelihood 40% 60% 

 
(c) (1.5 points)  Show all work by typing out the calculation. 
 

(i) Calculate the Sharpe ratio for each strategy. 
 
ANSWER: 
 

 
(ii) Recommend one of these strategies.  
 
ANSWER: 
 



Exam QFIIRM – Fall 2020 - 
QFI Investment Risk Management Exam 

6. Continued 
 
After getting your recommendation, the portfolio manager puts together an asset 
allocation with the following exposures and regulatory capital requirements: 
 

Current Asset Allocation 

  
Portfolio 

Exposure ($M) 
Required 

Capital Factor 
Total Required 
Capital ($M) 

 A B C = A x B 
Treasuries 10 0% 0.0 
Investment 
Grade Bonds 80 1% 0.8 

High Yield 
Bonds 10 10% 1 

Total 100  1.8 
 
The firm’s risk limit states that required capital cannot exceed $2M.  Your credit analyst 
estimates that 10% of Investment Grade bonds will be downgraded to High Yield next 
year. 
 
(d) (1 point)  Show all work by typing out the calculation. 
 

(i) Calculate the new regulatory capital requirement under this scenario. 
 

ANSWER: 
 

 
(ii) Recommend any necessary changes to the asset allocation.   

 
ANSWER: 
 

 
 

**END OF EXAMINATION** 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


